L1 L2 L3 L1 L2 L3
[1] [3] [5] [1] [3] [5]
+J10 +J11 +J12 +J13 +J14 +J15
) | D
2] 4] (6] L] 2] 4] (6]
kS Q
= Z
,m ,m
O< O«
e X E
el o0
TEo 528
= 2 B = P B
geg o2
L0 L0 Yo} o
w0 N N Lo o~ o~
M S S ] S S
k 2 z 2 i z
> & & > & &
& > > x > >
w O (&) m O O
M N M M M M
ZASUVKY ZASUVKY ZASUVKY ZASUVKY ZASUVKY ZASUVKY
TOPNY ZEBRIK
CM. ks/P (W) C.M. ks/P (W) C.M. ks/P (W) CM. ks/P (W) C.M. ks/P (W) C.M. ks/P (W)
212 8 1.11 1 1.09 5 1.08 5 1.08 1 1.01 1
SUMA 3680 1.12 6 SUMA 3680 SUMA 3680 SUMA 3680 1.02 1
SUMA 3680 1.10 1

SUMA 3680
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